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204 25 D1'(Fk)-1/2-(1-2x/0) D1(Fk)-0/2-(1-2x/0)
204 28 D2'(Fk)-1/2+(1-2x/0) D2'(Fk)-0/2+(1-2x/0)
204 31 L(Fk)+1/2+(1-2x/0) L(Fk)-0/2+(1-2x/0)
208 9 =58783 X 25X 107/1.10 =58783 X 500X 10°/1.10
208 10 =1336.0 kN =26719.5 kN
208 13 AR R © cr): 25N/mm® AW TR © cr): 500N/ mm?
208 19 kxy=8.125+5.045K=0.552 kxy=8.125+5.045K =10.910
208 33 Vud=1336.0 kN-m Vud=2084.1 kN
209 4 =1.0X717.17/1336.0 =1.0X717.17/3042.5
209 5 =0.54=1.0—0K =0.24=1.0—0K
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214 8 fbk= p m+f=1.00 % 990.0=990.0N/mm? fok= p m+f=1.00 X 830.0=830.0N/mm?
214 9 fbd=fbk/ v m=990,/1.05=943N/mm? fbd=fbk/ y m=830,/1.05=790N,/mm?
214 11 £=305.0N/mm? £=304.8N/mm?
214 12 fbk= p m+f=1.00 X 305.0=305.0N/mm? fok= p m+f=1.00 X 304.8=304.8N/mm’
214 13 fhd=fbk/ v m=305/1.30=235N/mm’ fbd=fbk/ y m=304.8/1.30=234N/mm?
216 9 o bl=fd-t-d/y b=943X16.0 X 16.0/1.10=219462N p bl=fd-t-d/y b=790X 16.0 X 16.0/1.10=183855N
218 9 o bl=fbd-t-d/ y b=943.0 X 16.0 X 16.0/1.10=219462N p bl=fd-t-d/y b=790 X 16.0 X 16.0/1.10=183855N
220 9 o bl=fd-te-d/ y b=943.0 X 26.0 X 16.0/1.10=356625N p bl=fd-te-d/ y b=790 X 26.0 X 16.0/1.10=298764N
220 14 o b2=fbd-te=d/ y b=235.0 X 26.0 X 16.0/1.10=88873N o b2=fhd-te+d/ y b=234 X 26.0 X 16.0/1.10=88495N
220 17 =88873N =88495N
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221 4 0 ai= p a*yi/yn=88873 X 118/198=52965N 0 ai= p a*yi/yn=88495 X 118,/198=52739N

221 9 vip/ pai=1.0X48570/52965=0.92<1.00—0OK v1ip/ pai=1.0X48570/52739=0.92<1.00—0OK
221 22 0 a=88873N 0 a=88495N

221 24 viep/ pa=1.0X48583/88873=0.55<1.00——0OK visp/ pa=1.0X48583/88495=0.55<1.00——OK




